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1. Crystal structure I_2 (2022-03-15 14:00:00 ~ 2022-03-22 13:59:00)

No. Start time End time A2 IP address(Device type)
1 2022-03-16 18:28:04 2022-03-16 18:28:04 0 175.223.21.63 (mobile)
2 2022-03-16 20:13:16 2022-03-16 20:13:16 0 118.220.219.138 (mobile)
] 2022-03-17 07:47:41 2022-03-17 07:47:41 0 118.220.219.138 (mobile)
4 2022-05-09 03:44:04 2022-05-09 08:39:38 0 147.46.138.240 (PC)

Required (43:00)

Total learning time (0)

o

210 2I1Ztel (R ZtEEh 0

I

Close
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2. Crystal structure Il (2022-03-15 14:00:00 ~ 2022-03-22 13:59:00)

No. Start time End time A2 IP address(Device type)
1 2022-03-16 21:29:03 2022-03-16 21:29:03 0 118.220.219.138 (mobile)
2 2022-03-17 08:10:29 2022-03-17 08:10:29 0 118.220.219.138 (mobile)

Required (39:00) Total learning time (0)  21ZHH 0 2|2tel(R[ZtE 8N 0




image3.png
5. XRD IlI_1 (2022-03-29 14:00:00 ~ 2022-04-05 13:59:00)

No. Start time End time A2 IP address(Device type)
1 2022-03-28 20:39:38 2022-03-28 20:39:48 = 118.220.219.138 (PC)
2 2022-03-28 20:40:01 2022-03-28 22:38:12 = 118.220.219.138 (PC)
3 2022-03-28 22:38:42 2022-03-28 23:28:22 = 118.220.219.138 (PC)

Required (51:00) Total learning time (0) 212K 0 2|2tel (X Zf2 2 0
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5. XRD Ill_2 (2022-03-29 14:00:00 ~ 2022-04-05 13:59:00)

No. Start time End time A2 IP address(Device type)
1 2022-03-28 20:39:51 2022-03-28 20:39:56 JIEH g 118.220.219.138 (PC)
2 2022-03-28 22:39:38 2022-03-28 22:38:42 JIEH g 118.220.219.138 (PC)
] 2022-03-28 23:28:26 2022-03-29 22:30:41 0 118.220.219.138 (PC)
4 2022-03-29 22:30:43 2022-04-01 18:28:52 01:23 118.220.219.138 (PC)

Required (21:00) Total learning time (01:23) 212t 01:23  J[Zk|(X|Zf=2Eh 0

Close




image5.png
6. SAXS (2022-04-05 14:00:00 ~ 2022-04-12 13:59:00)

No. Start time End time A2 IP address(Device type)
1 2022-04-04 20:36:24 2022-04-04 20:36:44 = 118.220.219.138 (PC)
2 2022-04-04 20:37:07 2022-04-08 18:34:24 0 118.220.219.138 (PC)

Required (01:13:00) Total learning time (0)  21ZHH 0 2|2tel(R[ZtE 8N 0




